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20154£=100
" « |BIERAL |fIERAL| #TAL ATALE
& B 15 # —_ i
(%) FE5E (%) FE5E
wE 101.2 10 -0.6
BH 103.3 0.9 0.25 -2.1 -0.56
A 104.1 1.9 0.04 0.9 0.02
ansm 107.7 2.6 0.07 -0.4 -0.01
ESEE] 102.2 -23 -0.06 -1.2 -0.03
ZLON%E 97.8 -1.3 -0.02 0.9 0.01
Fx-EE 107.9 6.9 0.19 -10.6 -0.34
2 118.1 47 0.06 -4.7 -0.07
SHAE - SRR R 103.5 20 0.03 -0.5 -0.01
%IE é 102.4 -18 -0.05 -18 -0.05
i o 97.2 -1.9 -0.06 -23 -0.07
¢ 99.3 -23 -0.03 0.0 0.00
ESE 101.9 1.9 0.03 -1.2 -0.02
NE 1025 1.3 0.06 0.0 0.00
THE 99.6 0.2 0.04 0.0 0.00
== A
EY ! s 99.2 0.1 0.02 _o.o _0.01
ExlmisiE -t 101.3 0.6 0.02 0.3 0.01
F&-KE 102.1 46 0.34 0.4 0.03
;ﬁ&c 101.8 6.1 0.23 0.7 0.03
2t 95.4 39 0.05 0.1 0.00
oSz 104.4 12.6 0.06 0.0 0.00
L TokEH 107.3 0.0 0.00 0.0 0.00
RE-REA& 98.9 0.9 0.03 -0.9 -0.03
RERAM A 98.8 48 0.05 -25 -0.03
ENE(ER 82.1 -11.2 -0.02 0.1 0.00
qufg 103.9 24 0.01 -0.1 0.00
REHE 102.1 -1.2 -0.01 0.4 0.00
R ERHEMA 97.8 0.1 0.00 -0.7 -0.01
REY—ER 99.8 0.0 0.00 0.0 0.00
BREVEY 101.8 1.3 0.06 -0.1 0.00
# 103.3 1.0 0.02 1.2 0.02
%}@r‘yﬁﬁ-t—a—- TiESE 94.9 1.2 0.01 -5.3 -0.06
103.5 5.4 0.03 3.1 0.02
1ﬁzo)$&ﬂﬁ 107.6 -44 -0.02 15 0.01
i AR EEEH —E X 107.1 3.0 0.01 3.0 0.01
RERER 101.4 0.8 0.04 -0.1 0.00
= 15_%1%?#}%#511'&“ 99.1 0.1 0.00 -0.4 0.00
REEEAM-FE 97.7 -3.3 -0.03 0.0 0.00
FEEEY—EXR 104.3 3.0 0.06 0.0 0.00
- iE{‘ 99.6 1.9 0.33 0.4 0.06
RE 100.8 0.3 0.00 2.0 0.02
E HEFHERE 101.4 1.9 0.22 0.3 0.04
BiE 95.0 2.5 0.11 0.1 0.00
#HE 103.3 14 0.03 0.0 0.00
BRENE 105.2 2.3 0.03 0.0 0.00
HEE-2ESELHM 101.0 0.1 0.00 0.0 0.00
HEHRE 100.0 0.0 0.00 0.0 0.00
BEIRE 100.9 -0.8 -0.07 -1.1 -0.10
%gghx E ifif A B4 101.1 -39 -0.02 -22 -0.01
158 FH 5 101.3 -0.8 -0.02 0.7 0.02
E5E- ﬁﬁwﬁnﬂlw 101.3 0.7 0.01 0.1 0.00
BEPESG—ER 100.6 -0.8 -0.04 -20 -0.11
HHE 101.7 -0.1 0.00 -0.1 0.00
HERY—ER 100.6 -0.3 0.00 0.0 0.00
BEXAAR 98.6 -1.9 -0.03 -0.6 -0.01
SqaY A& 109.0 0.9 0.01 0.8 0.01
=IES 102.8 1.1 0.00 0.0 0.00
M E 102.0 0.6 0.02 0.0 0.00 |
B REkRis 100.8 0.8 0.76 -0.2 -0.20
$EHBARUIRILY—4RR<BEE 100.6 0.2 0.21 -0.3 -0.24
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B ] 5 Ji)e ifi A L ifi
#£ A E<%§>E“ﬂtt E<%§>E“ﬂtt E<%§>E“ﬂtt
Mz ! H ! | Mz ! H ! | Mz ! H ! |
?ﬁ‘ ;& W Al ?ﬁ‘ ;& W Al ?ﬁ‘ ;& W Al
H (00) H (00) H (00 H (00) H (00 H (00)
MRk 254 96. 6 0.4 96. 6 0.2 96. 6 0.4
26 99. 2 2.7 99. 1 2.6 99. 2 2.6
27 100. 0 0.8 100. 0 0.9 100. 0 0.8
28 99.9 0.1 100. 0 0.0 99.7 -0.3
29 100. 4 0.5 100. 6 0.6 99. 9 0.3
29/3 99.9 0.2 0.1 100. 2 0.6 0.0 99.3 -0.3  -0.1
4 100. 3 0.4 0.4 100. 3 0.4 0.1 99. 7 0.2 0.4
5 100. 4 0.4 0.1 100. 5 0.6 0.2 100. 0 0.2 0.3
6 100. 2 0.4 -0.1 100. 3 0.6 —0.2 99. 8 0.2 0.2
7 100. 1 0.4 -0.2 100. 3 0.6 0.0 99. 7 0.2 -0.1
8 100. 3 0.7 0.2 100. 7 0.7 0.4 100. 1 0.5 0.4
9 100. 5 0.7 0.2 100. 9 1.0 0.2 100. 1 0.4 0.0
10 100. 6 0.2 0.0 100. 9 0.1 0.0 100. 3 0.2 0.2
11 100. 9 0.6 0.4 101. 2 0.5 0.3 100. 4 0.4 0.2
12 101.2 1.0 0.3 101. 3 0.7 0.1 100. 5 0.6 0.1
30/1 101. 3 1.4 0.1 101. 7 1.3 0.4 100. 8 0.9 0.3
2 101. 3 1.5 0.0 101.9 1.7 0.1 100. 9 1.4 0.1
3 101.0 1.1 -0.3 101.2 1.0 -0.6 100. 6 1.3 -0.2
fif] (L il Jin 5 il ] [ il
O O O
A & #% <|atf> DET | FE O <|atf> DET | FE O <|atf> DRI
(%) (%) %) (%) (%) (%)
Rk 254 96. 9 0.2 96.1 0.1 96. 6 0.0
26 99. 4 2.5 98.5 2.5 99. 3 2.7
27 100. 0 0.6 100. 0 1.5 100. 0 0.7
28 99.9 0.1 100. 0 0.0 100. 0 0.0
29 100. 5 0.6 100. 4 0.3 100. 5 0.5
29/3 100. 1 0.6 -0.1 99.8 0.1 0.0 99.9 0.3 0.2
4 100. 2 0.2 0.0 100. 3 0.2 0.6 100. 3 0.2 0.4
5 100. 5 0.5 0.3 100. 4 0.3 0.1 100. 4 0.2 0.1
6 100. 5 0.6 0.0 100. 3 0.1 -0.2 100. 3 0.2 -0.1
7 100. 2 0.6 -0.3 100. 2 0.5 -0.1 100. 3 0.5 0.0
8 100. 4 0.8 0.2 100. 3 0.6 0.1 100. 7 0.7 0.3
9 100. 7 0.6 0.3 100. 5 0.8 0.2 100. 8 0.4 0.1
10 100. 9 0.4 0.2 100. 6 0.0 0.1 101.0 0.6 0.3
11 100. 9 0.4 0.0 100. 9 0.4 0.3 101. 2 1.0 0.1
12 101.0 0.8 0.0 101.0 0.8 0.2 101.2 1.2 0.0
30/1 101.2 1.0 0.2 101.5 1.5 0.5 101.5 1.3 0.3
2 101. 1 0.9 -0.1 101. 2 1.4 -0.3 101.7 1.9 0.2
3 100. 7 0.6 -0.4 100. 9 1.1 -0.3 101. 1 1.2 -0.6
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L3 & ® * B B B - ok E FE - FEAS R 2O BY 7’ o’ E B
TR TR TR TR TR TR TR
EA |8 B AR AL % (RA) MAL| R K (FA) MAK| 8 KA AL K AA) MAK|E K @A Ak R & ED K
D Dk D Dk D Dk Dk !
L) (%) L) L (%) L) (%) L) L (%) L) (%) L (%) ! (%) L) (%)
VEZAY 10000 2617 1862 753 374 437 424
254F | 96. 6 0.2 92.3 0.2 100.0 -0.3 97.9 2.0 94.7 -2.1 99. 8 0.9 97.9 -0.6
264F | 99. 1 2.6 96. 2 4.2 100. 1 0.0 102. 4 4.6 97.2 2.7 100. 4 0.6 98.8 0.9
274F [100. 0 0.9 100. 0 4.0 100.0 -0.1 100.0 -2.3 100.0 2.9 100.0 -0.4 100.0 1.2
284F [100. 0 0.0 101.8 1.8 99.8 0.2 94.9 -b.1 99.9 0.1 102.7 2.7 100.5 0.5
294F [100. 6 0.6 102.3 0.5 99.5 -0.3 99.4 4.8 99.7 0.2 103. 1 0.3 101.0 0.5
29/3 [100. 2 0.6 0.0 [[102.3 0.7 0.0 199.4 -0.4 -0.11]097.6 2.7 0.7 1980 -1.1 -0.9 [100.4 -1.1 -0.5]100.6 0.5 0.5
4 100. 3 0.4 0.1 [[101.8 0.4 -0.5199.4 -0.4 0.0 [ 98.5 4.1 1.0 {98.0 -3.0 0.0 [103.0 0.0 2.5 1100.4 0.4 -0.1
5 100. 5 0.6 0.2 [[101.8 0.4 0.0 199.4 -0.5 0.0 [99.9 5.0 1.4 {97.5 -1.3 -0.6 |103.9 1.0 0.9 |100.8 0.3 0.4
6 100. 3 0.6 -0.2 |101.6 0.8 -0.2199.4 -0.4 0.0 [100.3 6.1 0.4 ]98.6 0.5 1.1 [104.0 1.4 0.1 |100.2 -0.6 -0.6
7 100. 3 0.6 0.0 [[101.4 0.5 -0.2199.4 -0.4 0.0 [100.1 6.4 -0.2 |101.5 1.9 3.0 |102.5 1.6 -1.5(100.4 -0.7 0.2
8 100. 7 0.7 0.4 [[102.5 0.5 1.1 199.4 -0.4 0.0 [100.2 6.9 0.1 [100.4 0.8 -1.1(100.7 -0.2 -1.7 (102.2 1.3 1.8
9 100.9 1.0 0.2 [[103.0 1.4 0.4199.5 -0.2 0.1 [100.2 7.3 0.1 [100.4 0.2 0.0 [105.3 0.3 4.6 | 102.1 1.9 0.0
10 {100.9 0.1 0.0 [[102.0 -1.5 -0.9 ]99.5 -0.3 0.0 [100.4 5.7 0.2 |100.9 -0.4 0.5 (105.1 -0.1 -0.2 |101.5 0.8 -0.6
11 |101.2 0.5 0.3 [[102.5 -0.6 0.5199.5 -0.2 0.0 [102.3 7.3 1.8 [100.7 0.8 -0.2 |105.6 -0.5 0.4 | 101.7 0.7 0.2
12 |101.3 0.7 0.1 [|103.1 0.5 0.6 |199.6 0.0 0.1 [100.9 5.3 -1.4 |101.1 -0.3 0.4 (104.1 -0.8 -1.4 ]101.6 0.8 -0.2
30/1[101.7 1.3 0.4 [[105.5 2.6 2.3199.6 -0.3 0.0 [101.1 5.2 0.2 [100.4 0.1 -0.7 |101.7 0.6 -2.3101.0 0.4 -0.6
2 101.9 1.7 0.1 [[105.5 3.0 0.0 ]99.6 0.1 0.0 [101.7 4.9 0.6 |199.8 0.9 -0.6 |101.8 0.9 0.1 |101.5 1.5 0.5
3 101. 2 1.0 -0.6 (103.3 0.9 -2.1199.6 0.2 0.0 (102.1 4.6 0.4 ]98.9 0.9 -0.9 |101.8 1.3 -0.1 [101.4 0.8 -0.1

R - BAE | & K | # % R oR | B % 2 |cResrkesTEREROSLY
R | | R | R | | R | R | | R |
AR K (RA) ALK IR 0 (RA) BiAK|HE B (AA) eiAk|H £ (AA) ARk 30 (FA) Ak 3B £ (AA) #iAk
Lo Ul Lo Ul Lo Ul
L) (%) L %) (%) L) (%) L %) (%) L) (%) L %) (%)
Db 1735 213 906 679 9581 8698
254F 100 1 1.4 97.2 0.6 94.8 -1.0 95.4 1.0 97.2 0.3
264 [102.7 2.5 98.8 1.7 98.1 3.5 98.8 3.6 99.4 2.3
274 (100.0  -2.6 100. 0 1.2 100. 0 2.0 100. 0 1.2 100. 0 0.6 100. 0
289 97.7 2.3 101. 4 1.4 101. 1 1.1 101. 1 1.1 99.7 0.3 100.6 0.6
294 | 98.2 0.4 102.8 1.4 101. 6 0.5 101.3 0.3 100. 4 0.7 100. 7 0.2
29/3|97.7 0.7 -0.4 |101.8 1.5 0.0 [101.7 1.6 0.4 |101.7 1.0 0.7 |100.0 0.6 0.1 [100.4 0.0 0.0
4 ]98.2 0.6 0.5 (102.3 0.6 0.5 |101.4 0.0 -0.3|101.9 0.4 0.2 (100.2 0.4 0.2 |100.5 -0.2 0.2
5 [98.2 0.6 -0.1]103.3 1.5 0.9 (101.7 0.9 0.3 |101.7 0.5 -0.2[100.4 0.7 0.2 [100.7 0.2 0.2
6 |197.9 -0.5 -0.3 [103.3 1.5 0.0 |100.8 0.3 -0.8 [101.4 0.4 -0.3 |100.4 0.8 0.0 |100.7 0.4 0.0
7 197.8 -0.2 -0.1 [103.3 1.5 0.0 ]100.9 0.1 0.1 |101.0 -0.1 -0.4 |f100.4 0.8 0.0 (100.8 0.4 0.1
8 97.7 0.0 -0.1 [103.3 1.5 0.0 |102.3 0.5 1.4 [101.1 0.1 0.1 [100.4 0.8 0.1 |100.8 0.2 0.0
9 | 97.7 0.4 -0.1 [103.3 1.5 0.0 |101.4 0.1 -0.9 [100.9 -0.6 0.2 [100.6 1.1 0.2 |101.0 0.5 0.1
10 198.6 0.9 1.0 |103.3 1.5 0.0 101.9 -0.5 0.5 |101.1 0.0 0.2 [100.8 0.8 0.2 [101.0 0.1 0.1
11 | 98.7 0.4 0.0 [103.3 1.5 0.0 ]102.3 0.1 0.4 |101.2 0.2 0.1 |101.0 0.8 0.2 [101.0 0.0 0.0
12 199.0 0.3 0.4 ]103.3 1.5 0.0 (102.5 0.9 0.2 |101.6 0.1 0.4 101.0 0.7 -0.1|101.0 0.1 0.0
30/1|98.8 0.6 -0.2 |103.3 1.5 0.0 |101 0.8 -0.8 |101.7 0.1 0.2 [100.8 0.8 -0.1]100.8 0.2 -0.2
2 199.3 1.1 0.4 |103.3 1.4 0.0 {102.0 0.7 0.3 |101.8 0.8 0.0 [101.0 1.1 0.2 |100.9 0.6 0.0
3 [99.6 1.9 0.4 |103.3 1.4 0.0 (100.9 -0.8 -1.1 |101.7 -0.1 -0.1 [[100.8 0.8 -0.2 [100.6 0.2 0.3
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29/3 |100.2 [102.3 1102.2 1105.0 1104.7 } 99.1 1100.9 $112.8 1101.4 1104.3 | 99.1 '101.7 1100.0 '101.2 | 99.4 : 99.1 :100.7 ! 97.6
4 |100.3 |101.8 5100.3 5106.4 5107.8 5100.1 99. 6 5103.3 5101.8 5103.1 97. 4 5101.5 iloo.o 5101.2 99. 4 99. 1 5100.9 98.5
5 [100.5 |101.8 1102.7 1103.8 1106.7 1 98.3 1 99.0 1106.7 1100.5 1103.8 1 98.6 1101.7 1100.0 :101.1 { 99.4  99.1 1100.9 i 99.9
6 [100.3 |101.6 1100.7 1104.9 1109.3 | 98.4 ! 96.4 1102.2 1100.3 1102.7 ! 98.2 1100.9 1102.6 102.1 | 99.4 ! 99.1 !100.9 ! 100.3
7 |100.3 |101.4 iloo.s 5105.0 2106.3 97.8 94.9 5100.6 2102.6 5103.6 99.5 5100.4 2103.5 5102.1 99. 4 99. 1 5100.9 100. 1
8 [100.7 [102.5 1101.4 1106.1 1106.7 | 97.9 | 98.4 '116.7 1102.1 1103.6 | 99.4 | 99.4 1102.1 1102.1 | 99.4 | 99.1 !100.9 | 100.2
9 |100.9 |103.0 5103.0 5110.2 5102.8 97.8 5104.5 5102.3 5103.3 5103.4 iloo.z 99.9 5104 2 5102 1]99.5 99. 1 5101 4 100. 2
10 {100.9 [102.0 1102.3 1106.7 1102.5 ! 97.8 1100.3 } 99.4 1102.7 1102.9 1100.7 1100.0 1103.1 1102.5 | 99.5 : 99.1 1 101.4 } 100. 4
11 [101.2 102.5 }103.1 1106.0 1103.8 | 97.8 1107.0 | 97.4 1103.6 1102.3 | 98.5 1100.6 {104.1 1102.5 | 99.5 | 99.1 :101.4 | 102.3
12 [101.3 [103. 1 5102.3 5107.3 5102.6 98.7 5109.1 5107.3 5103.7 5103.2 97.6 5100.3 5103.9 5102.5 99.6 99. 2 5101.4 100. 9
30/1 [101.7 [105.5 1103.4 1108.8 1102.7 | 98.2 1120.0 1123.7 !104.1 }103.6 1100.0 | 99.6 1103.9 1102.5 | 99.6 | 99.2 !101.4 | 101.1
2 |101.9 |105.5 2103.2 5108.2 2103.5 96.9 2120.7 5123.9 2104.0 5104.3 99.5 99.3 2103.1 5102.5 99.6 99. 2 5101.6 101.7
3 [101.2 |103.3 1104.1 $107.7 1102.2 ! 97.8 1107.9 '118.1 1103.5 1102.4 ! 97.2 : 99.3 '101.9 $102.5 | 99.6 ! 99.2 '101.3 ! 102. 1
Ed 3
o I B I R I i I B B ® z
. |, g | o | mIw s [C] T
- » o | Flom | oy L
5| % & | R .
A ¥ = fiif e 1H | | |
i = | M £ . J& T §|7
gl e o lwle ol eslal e s lmw|m| s s|;
29/3 | 96.0 91.8 92.8 5107.3 98.0 94.3 92.4 5101.5 5103.4 97.7 99.8 |100.4 5102.2 §1oo.o 5102.6 93.8 92.6 96. 6
4 | 97.7192.2192.81107.3 | 98.0 1 92.8 1 93.7 1102.1 1103.1 | 99.4 1 99.8 [103.0 1103.7 : 97.0 1104.8 | 101.7 1103.3 | 97.8
5 [100.2192.6192.41107.3 | 97.5 1 93.1 1 90.0 '102.6 1102.8 | 97.6 | 99.8 |103.9 1105.1 ' 97.0 1106.5 | 102.9 '106.1 | 95.5
6 |100.9 92.7 92.4 5107.3 98.6 98.4 92.4 5102.6 5101.8 95.6 99.8 |104.0 5105.0 97.0 5106.4 103.7 5106.9 96. 2
7 [100.7 1 92.8 1 90.8 1107.3 |101.5 1107.2 | 90.3 1101.2 {102.2 | 96.9 | 99.8 |102.5 1103.1 | 97.0 !104.1 | 99.4 1100.4 | 97.1
8 |100.8 93.0 90.8 5107.3 100. 4 5104.7 86. 4 5100.8 2102.4 96.5 99.8 |100.7 2102.8 97.0 2103.8 94.6 93.3 97.8
9 [100.9:93.1 ! 90.8 1107.3 |100.4 1103.4 | 88.8 1 99.5 1102.8 ' 97.7 ! 99.8 [105.3 1105.0 : 97.0 1106.4 | 108.4 '113.5 | 96.4
10 [100.8 | 93.1 | 94.3 1107.3 |100.9 !106.8 | 88.8 | 99.5 !101.2 | 96.8 | 99.8 |105.1 {104.4 | 97.0 1105.7 | 109.1 }113.8 | 98.0
11 [100.4 5103.2 97.8 5107.3 100.7 5107.9 86.8 99.9 5100.6 95.2 99.8 |105.6 5104.5 97.0 5105.9 109. 3 5114.0 98.4
12 ]100.2 1 95.3 1 99.8 1107.3 [101.1 '106.9 ! 85.8 1104.7 1101.1 ! 96.2 ! 99.8 |104.1 1104.5 ! 97.0 1105.8 | 105.0 1107.7 | 98.4
30/1 |100. 6 95.2 99.8 5107 3 (100.4 5104.4 84.9 5105.0 5102.1 95.8 99.8 |101.7 5101.3 97.0 5102.1 101. 2 5102.4 98.5
2 [101.1 ! 95.3 1104.4 1107.3 | 99.8 1101.3 | 82.0 104.1 '101.8 ! 98.5 ' 99.8 |101.8 1102.1 ' 97.0 !102.9 | 100.3 ' 101.6 | 97.0
3 |101.8 95.4 2104.4 5107.3 98.9 98.8 82.1 5103.9 2102.1 97.8 99.8 |101.8 2103.3 97.0 2104.4 94.9 94.3 96. 4




BEWH o EER GBS

20154-=100
e G5 & 7
4 J& it 3 e | PR G B El P = FHE | M H
i F g | @ # e ¥
| B m, | B | = A " | m
» % | g # % |, 0| B 9
b £ - W z S
L7 A e
)EJ ¥ E HEJ =] EFD "j_ 3 %‘;_ ﬁ/g\‘ ﬂEJ
%&’ | %_gnn . 1 @ B\“ﬁ *’I’ = ﬁ ﬁﬁf
. wo| om | v £ & Iy
H il 2 | b - B A & & # & ‘ % | # ‘ ES )
29/3 | 98.2 1112.6 1104.0 |100.6 : 99.0 1101.0 1101.3 | 97.7 1100.5 ! 99.5 | 92.6 [101.8 1102.9 1100.9 1100.0 |101.7 {105.2
4 | 99.4 '108.1 1104.0 [100.4 1100.0 | 99.1 !101.3 | 98.2 ! 98.8 | 99.3 ! 95.4 |102.3 !103.7 !101.0 }100.0 |101.4 {105.4
5 99.4 1108.1 1104.0 |100.8 1102.1 1 97.9 1101.3 | 98.2 1 99.1 1 99.1 1 95.6 [103.3 1105.2 :101.0 :100.0 |101.7 {103.6
6 | 99.4 1108.1 1102.9 [100.2  99.8 ! 98.4 1101.3 | 97.9 ¢ 98.7 ! 98.5 ! 96.2 |103.3 1105.2 1101.0 1100.0 |100.8 {100.9
7 [102.7 1108.1 1102.9 [100.4 :100.6 : 98.1 1101.3 | 97.8 1101.9 i 98.0 : 96.2 [103.3 1105.2 1101.0 :1100.0 [100.9 | 99.6
8 [101.6 1104.1 '104.0 [102.2 '101.6 ' 98.1 '104.3 | 97.7 1103.4 } 98.4 ! 94.5 |103.3 1105.2 1101.0 1100.0 |102.3 | 99.6
9 |102.4 '103.4 1104.0 [102.1 !101.3 | 98.3 !104.3 | 97.7 | 99.8 | 98.9 ! 94.1 |103.3 !105.2 !101.0 }100.0 |101.4 i 98.3
10 |100.5 1106.9 1102.0 [101.5 1 99.3 | 97.9 1104.3 | 98.6 1100.0 1100.0 1 95.0 |103.3 1105.2 1101.0 1100.0 [101.9 {100.5
11 [102.3 1106.2 1104.0 [101.7 ' 99.9 ! 98.0 '104.3 | 98.7 ! 99.5 1100.1 ! 95.1 |103.3 1105.2 1101.0 1100.0 |102.3 {101.2
12 [102.3 1102.2 1104.0 [101.6 | 99.8 | 97.5 1104.3 | 99.0 100.2 1100.5 | 95.1 |103.3 1105.2 {101.0 1100.0 [102.5 {102.0
30/1 [100.4 1106.0 1104.0 [101.0 | 98.3 | 96.8 1104.3 | 98.8 | 99.0 '100.5 | 94.9 |103.3 1105.2 '101.0 1100.0 |101.7 101.6
2 [100.4 1106.0 1104.0 [101.5 + 99.4 + 97.7 1104.3 | 99.3 : 98.8 1101.1 1 94.9 |103.3 1105.2 1101.0 1100.0 [102.0 {103. 4
3 |103.5 1107.6 1107.1 [101.4 : 99.1 ¢ 97.7 1104.3 | 99.6 1100.8 :101.4 : 95.0 [103.3 1105.2 1101.0 :100.0 [100.9 {101.1
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29/3 [102.1 1100.6 !101.4 |101.7 '100.9 1100.5 !108.1 !101.7 101.4 | 96.2 |102.5 [101.7 | 97.8 |105.3 1108.3 | 98.4 !112.4
4| 99.0 1100.6 1102.3 [101.9 1100.6 1100.4 1107.6 :102.4 :101.9 | 97.0 |102.9 |101.1 | 97.8 |102.5 1110.0 : 96.7 1102.6
5 [100.5 '100.8 1102.2 |101.7 1100.6 1100.2 1106.1 '102.4 1101.9 | 97.7 |103.5 [101.4 | 97.9 [101.4 1106.0 ! 94.9 1106. 1
6 | 99.0 1100.9 1101.7 [101.4 1100.6 ; 99.1 1105.6 :102.4 :101.9 | 96.9 [103.5 |100.4 | 97.9 | 98.8 i107.3 | 90.6 :101.3
7| 99.0 1100.9 1101.9 |101.0 1100.6 | 98.6 1102.6 1102.4 1101.9 | 96.1 |103.5 |100.8 | 97.9 | 97.6 1107.5 | 88.7 | 99.7
8 [100.4 1100.8 1103.7 |101.1 1100.6 | 99.1 1102.0 1102.4 1102.0 | 96.8 |103.5 [102.3 | 96.4 [105.4 1110.1 | 94.6 1116.6
9 [100.6 1100.7 1102.2 [100.9 1100.6 ! 99.0 1100.0 :102.4 :102.0 | 97.3 |103.5 |101.0 | 96.4 [106.9 1116.0 1103.5 1101.4
10 [100.2 1100.8 1103.0 [101.1 1100.6 | 98.3 1103.4 1102.8 1102.0 | 98.9 |103.5 [101.6 | 96.4 [101.9 1111.0 | 97.2 | 98.4
11 |101.7 i101.1 1103.0 [101.2 1100.6 i 98.9 1102.7 1102.8 1102.0 [101.0 [103.5 |101.9 | 96.4 [105.0 1108.7 1107.7 i 96.3
12 [103.7 1101.1 1102.3 [101.6 1100.6 ' 98.7 '107.4 1102.8 1102.0 [100.5 |104.6 |102.1 | 96.4 [109.8 1111.0 1110.9 1106.7
30/1 {102.1 :101.3 1101.6 |101.7 1100.6 : 99.1 :107.9 1102.8 1102.0 |100.6 [104.6 [101.2 | 96.2 [122.4 1113.0 1128.5 1123.9
2 [100.6 1101.2 1102.7 |101.8 1100.6 | 99.2 1108.2 1102.8 1102.0 [102.0 |104.9 [101.4 | 96.2 [121.9 1110.3 1129.2 1124. 1
3 |101.3 !101.3 100.6 [101.7 !100.6 : 98.6 !109.0 :102.8 !102.0 [102.4 [104.7 [100.6 | 96.3 [112.0 ;110.8 !108.9 ;118.0




